PICTURE

QTty

DESCRIPTION

REPLACEMENT
MANUFACTURER & P/N

Timing Cover

Holley 97-374 (VVT-Natural)

Water Pump Drive
Assembly / Gasket

Holley 97-200 / GM 12619770

Altemator

Holley 197-302 (Natural)

Altemmator Pigtail

Holley 197-400

P/S Pump

Holley 198-101

P/S Pump Hardline

Holley 198-203

1 P/S Pulley Holley 97-152

1 SD7 AJC Compressor Holley 199-102 (Natural) /

1 Adapt%r Manifold for A/C Holley 199-202
ompressor

Tensioner Assembly with
Smooth Pulley

Holley 97-179 / Gates 38163

1 Water Neck 90 Deg. Holley 97-341
AN o
il 1 Water Neck 45 Deg. Holley 97-343
1 Thermostat Gates 34053
1 Gasket, Cover to Block Mopar 53021521AD
—
ﬁg‘} 1 Seal Installation Tool Holley 97-367




Seal, Cover to Damper

Mopar 53021585AD

Damper Bolt

Mopar 6510763AA

2\&

Accessory Belt

Bando 6PK1635




HARDWARE Replacement Kit 97-366 Hardware Application
P Spacer For A/C Inside Bolt
M8 Washer Oversized Under Tensioner Bolt

Button Head Bolt
Me X 1.0X 20

Water Pump to Timing Cover

Button Head Bolt
MEX125XT0

Tensioner Bolt

Button Head Bolt M10 X
15X 75

Alternator Bolt - Qutside

Socket Head Bolt
MB X 1.25 X 100

Cover to Block
Top 3 Bolts Passenger's Side

Socket Head Bolt

Alternator Bolt - Inside

) M10 X 15X 75
Flarég; ?_Eag E; X Cam Sensor Bolt
Flange Head Bolt OE Water Neck to Timing Cover
M8 X 125X 16 (Optional)
Flange Head Bolt (3) FiS Pump /
MB X 1.25X 30 (1) Cover Below Water Inlet
Cover to Block
_ SN e (2) Bottom Bolts /
['“f".ﬁ-- ’ (2) Near P/S Pump
L Flange Head Bolt (1) Cover to Block /
M8 X 125X 95 (1) AJ/C Mounting Bolt
Flange Head Bolt - :
M8 E 195 % 110 AJC Mounting Bolt - Inside
Flange Head Bolt Cover to Block

MB X 1.25 X 125

Cast Boss Above Inlet




Included With: 20-291

Damper, VT, OE
Style

Holley 97-363




	Screenshot 2021-09-10 063105
	Screenshot 2021-09-10 063142
	Screenshot 2021-09-10 063228
	Screenshot 2021-09-10 063403

